CIE-P60 data of Ostwaldcolours of maximum chromatic valueCyg
Y,,~88,6, Ym=520_770, Bm=380_520, and 1-minus data (- -
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CIE-P55 data of Ostwaldcolours of maximum chromatic valueCyg
Y,,~88,6, Ym=520_770, Bm=380_520, and 1-minus data (- -
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CIE-P50 data of Ostwaldcolours of maximum chromatic valueCyg
Y,,~88,6, Ym=520_770, Bm=380_520, and 1-minus data (- -
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CIE-P45 data of Ostwaldcolours of maximum chromatic valueCyg
Y,,~88,6, Ym=520_770, Bm=380_520, and 1-minus data (- -
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CIE-P40 data of Ostwaldcolours of maximum chromatic valueC,
Y,,~88,6, Ym=520_770, Bm=380_520, and 1-minus data ( - f
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CIE-P35 data of Ostwaldcolours of maximum chromatic valueCyg

Y,,~88,6, Ym=520_770, Bm=380_520, and 1-minus data (- -
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CIE-P30 data of Ostwaldcolours of maximum chromatic valueCyg
Y,,~88,6, Ym=520_770, Bm=380_520, and 1-minus data (- -
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CIE-P25 data of Ostwaldcolours of maximum chromatic valueCyg
Y,,~88,6, Ym=520_770, Bm=380_520, and 1-minus data (- -
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